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BcnomMHMM 6 Knacc.
Kak ygoOHO BbIYNCNNUTL?

87-5+13:5=5:(87+13)=
=5-100=500



Ne 283

0) 2x - 2y5 2(*v)

n) 12x + 6y;- %@H\M
3) 4 -4a;= 4(1-o

an) ab + be;=

0) 6x + 8xy;=



Ne 284
6) x2 - x;= X(x-1)

g) b® - b%= 4" (&1)
3) 4a% - 2ab



Ne 285
0) 8abx - 6acy - 10ak =
= 2(},- (LI BY -3 (‘J%," 5}R>
r) 63xy - 84y* + 98ay -

e) 20ax - 35bx — 40x2 =



No 286
0) X3+ x2-x=x (xlﬂ‘x-"J

r) -bxdy? - brly=-5% xly,(x‘ﬁ 4)

e) 2a%h - 6ab* + 4a%b® =

3) 16x + 8x% - 4x3 + 2xi =



[JomalluHee 3agaHue.
* PelunTb Ne 283(1), 285(1).



